
TABELA 1

Lp. Hektometr Odległość

wykop         
+

nasyp         
-

wykop       
+

nasyp                   
-

wykop       
+

m2 m2 mb m3

1-1 9,70 0,00

2-2 2,40 0,20 6,05 0,20 8,1 48,8
3-3 5,90 0,20 4,15 0,15 10,3 42,6
4-4 5,00 0,10 5,45 0,05 8,66 47,2
5-5 3,10 0,00 4,05 0,00 3,24 13,1
6-6 2,20 0,00 2,65 0,00 21,25 56,3

7-7 10,30 0,00 5,15 0,00
8-8 4,60 0,00 7,45 0,00 7,58 56,5
9-9 7,90 0,00 6,25 0,10 12,15 75,9

10,10 3,20 0,20 5,55 0,10 14,13 78,4
11-11 3,20 0,00 3,20 0,00 15,65 50,1
12-12 1,30 0,00 2,25 0,00 6,54 14,7

Obliczenie robót ziemnych 

Obję śćŚrednie powierzchniePowierzchnie
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-

m3
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Objętość
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